ONRIFHLVD AVANNS VZ/LE/E ung €¢ siseusn €C M ve/LE/L PaM
€| wiesd X Z/0€/€ 1eS ¢ Sissusn ¢ M 7¢/0e/1 an|
Gl SNPOX3 | €| sueWOyY| ¥¢/6¢/€ =] PP sissusH 0¢ swvY ¢/6¢/C anyjp L siseusn) L &N ve/6c/1 UOA
71 SNPOX3 || SUBWOY | ¥¢/8C/€ anyp € sissus 61 SV ¥¢/8¢/C PaM ONIYIHLYD AVANNS v¢/8¢/1 ung
€1 SnpoX3 ||| suewWoy| v¢/L2/€ PaM C sisausy 8l SV ve/Lere anl P Wesd X ve/Le/) 1es
Cl SnpPOX3 Q| suewoy| v¢/9¢/€ anp Ly siseusg Ll SRV ¢/9¢/C UON 0c siseusH 0¢ &N ve/9¢/1 2E|
L1 snpoxq 6 sUewoy | y¢/9¢/€ UON ONIIHLYD AVANNS ¥¢/S¢/C uns 61 sIssusH 61 N7 v¢/Sc/1L nyp
ONRIFHLVD AVANNS Ve/ve/e ung 8 Wjesd X ve/vere 1eS 81 sissust) 81 N7 ve/ve/l PeM
Cl ujesd X ve/ee/e 1eS Ot sissus 91 sRY ve/ee/e | L] sissus9 L1 M ve/ee/L snl
Ol snpox3 | g SUeWOy | v¢/ce/e IE] 6€ SIseusn Sl sy veree/e anyl 91 sissust) 91 N veree/l UoN
6 SNPOxg [ SUeWoy  y¢/l¢/€ anyp 8¢ sissusn) 71 SRV ve/1e/e PaM ONIYIHLYD AVANNS ve/Le/L ung
8 snpoxy 9 suewoy | y¢/0¢/€ PaM JASEEEEED) €l sy ¥¢/0¢/C onjl| € wiesd X v¢/0¢/1 1es
[SNpoXg | G suewoy | 12/61/8 anL 9ESEeUsD | ZLSPY | ve/6lie O GLsseusD | SL oM | 12/bl/L |
9 Snpox3 ¥ suewoy | y¢/81l/¢ UON ONRFHLYD AVANNS v¢/8L/C uns 71 sissus9 1 M vZ/8L/1L nyL
ONIRIFHLVYD AVANNS ve/LL/E ung [ Wijesd X ve/LLe 1eS €1 sisausg) €l M ver/LL/L PaM
L | wijesd X ve/91/€ 1eS GE sissusn) Ll sV ve/9L/e ] Cl sissusn AR ve/9L/1L eng
G snpox3 € suewoy | y¢/SL/€ [EE| Y€ sissusH 0l s»vY ve/SL/e anyp L | sissus9) Ll 33N ve/SL/L UOA
¥ Snpox3 ¢ suewoy | yZ/vL/€ anyp €€ sisaus 6 SRV ve/vLie PaM ONIYIHLYD AVANNS ve/vi/lL ung
€ snpox3 | suewoy | y¢/el/€ PaM CE SIssusn 8 SV ve/eL/e eng ¢ Wiesd X ve/eL/L 1es
¢ SNpoxy 8¢ SV ve/eL/e anp LE sissusg) L SWY ve/reLie UoN 0l sissust) 0ol &N ve/seL/L 2]
| snpoxg LT SWVY ve/LL/E UON ONIYIHLYD AVANNS ve/LL/e ung 6 SIssusn) 6 M ve/LL/L nyp
ONIFIHLVDO AVANNS vZ/0L/€ ung 9 wiesd X vZ/0L/e 1eS 8 sissusn) 8 M vc/0L/1L PaM
0l Wwijesd X ¢/6/€ 1e§ 0€ siseus 9 SRV ¢/6/C | [ SIsdus9 L] ve/6/1 snj
QG sissus9 9¢ SWY ¢/8/€ Uy 6C SIsdUsH S SPY ¥¢/8/¢ anyl 9 sisaus9) 9 M ¢/8/1 UOA
61 SissusH) SC SRV Ve/L/E anyp 8¢ sisaust) 7 SRV ve/L/e PaM ONIYIHLYD AVANNS ve/L/L uns
81 sissus ¢ SV vZ/9/€ PaM [T SISsuUs € SV Z/9/¢ onj| | wijesd X ve/9/L 1es
LV SIsduUs9) €¢C SPY ¢/S/€ snp Q¢ sissusH Z SRY ¥¢/S/¢ UOIA G sissusg) G N7 v¢/S/1 EE]
9t sissus ¢ SV ve/v/E UON ONIIHLYD AVANNS ve/vie ung ¥ sissus9y ¥ &M ve/v/L nyp
ONIRIFHLVD AVANNS Vve/e/e ung G wjesd X /e 1eS € sisausH € N7 vere/L PaMm
6 Wjesd X v¢/e/e 1es G siseuay l sV v¢/e/e ] Z sissusg Z M ve/e/L eng
S sissus LZ SRV ve/L/e 14 ¢ sissus9 ¢ N7 ve/L/e anyp | sissus L &M ve/L/L UON
10 1N ilva Ava 10 1IN ilva Ava 10 1IN ilva Avd
HOYVIN AvNg34d AIVNNVT
9] 4+
n = £ - ©
© =
|n_m r.nrlv w < © z .W w 2 e |w
6 2C o & 2 © X 3 = O 0 O . 3
3> 0 cC o = c © = -~ a o 2 £ S ° o~ o
n z0 § 5 T O o] Qo ¢ .= o8 >
v 3 =2 9 0 o - = © o © Y > . < )
- = 0O m..lm QO o ©C Q + < > (O] > o O o~ 2 ..kln.
0o 5 g0 © O & 0 c g @ ¢ = 03O ¢ o 5
=8 . S EQ o < o = E 25 € 0 o © c o
= =v £7T c - K% S [0) o v S < © r.ll
v 3 Q0 c B c 3 3 2
= O o2 O 2 8+ o L 0 = 2 o — 0 - o] 2
[¢] Iw < z 0. o - > S5 > M = w E ] e} ~
E2 8 2= 2 5 = Qo o 3 E . § &= O ) =
o P <cH5cT £ 0 3 @ © c S s o & §* 3 2 £
E298 0 53 g>o 9 w9 HLc o 239 5§ i =
98fs2>2 863 = S 35% 323 % o 8
9==8%c=% 535385 . = 2o S F<L o TEX 4] Q
T O © £ © o Q w O & c 5= > & £ 5 = -
00 0L 5 O 0 E 2E o 95 = 208 5 5 a0 o -
o £ T 2+ 0 = w . © > . 0 39 © w > e S
S O0C g0 o & _—— = o8 x 2 & o _ ) = >
w O 9?2 0 3 3 ¢ > 0 < w K ] S nvm o > 4 W < |,.na o) hO
Se2 288 St2>5 S0 BPTY L o2 % 5 %
[0} B .. e (%) >
52y 2ge 5 2552 ¢ s¥£RER £ Trc 2T 3 £
s 9 ELH 35S 5 208 0 295 o2 3 559 © < .
t5E38%5 2 §300 B S£9 £85 D gPo 5 g g
25 L O c o w s O > . 75O (0] = o 9 O ¢ o & o))
28D R0 c 5 J86£ 24 &> 20900 * g=8& 9 © 3
£ . .S 0 £ 008 5 *FHE o g [ ) fa
50 2 2 2 T ok €S £ @2 =0t c L O 9] ©
W.SWMMH.M ) mmvrm.glwtwarmna 0 .Swd 9 @ Q
On,Sdldwm.l,Udl..hLm,um VﬂUrmWquLmllwe =T ] © wl R
Q8T ovcowog £ ot50 TH o o c 5 9 oc o & 2 <
c S O ] = £ O @ e h
v a8 c o< Q 7 <€ 0o £ ES > o .£ £ = c
SoQFos a8 25> cg 980 9088 g5 B53= o c 5
2£85¢688°0 ¢ 5838 82 298 3% £ 828 2 9 T
~ © M = ‘= ®© (0] .
£e852o-5 8 83653 ECS 265 2C€ 5 003 o 2 2 2
L 3C € D50 X 5= ® €€ 38 = 5 L = © )
5 o g < 9 = a e 0] S c 0o JH QOE 2 m g
o 5 >0 £ 00 &50T Q¢ 0+ 0 00 g L Bg s © fa) a o
W 9905 5 09 o £ Q o C o« B 9w O 5 > C = o M © W w w =
= C £ ¢ Fos e =0 DOs Woao P2 ~ W N o ©
$ M 00 = ,n_r.v 2, ° ° ° sox T S v g wn 9
222y z83 3 3 228 ¥ 2 93
OFE2 902682 « S awun < o O c
A

BIBLE
L1 READING

LIVE Based on this passage, how should | live
(think/feel, speak/act, repent/change?)




